.  SOLUTION BEH K FEEN— 4R M EL
= Quiz 10 Z:t HEE: 2022/05/19

AEERFH - 5tEES - FRIEFE

1. Express z/w in the form a + bi, where a,b € R, if

z=14+2, w=4-3i

: _ —24 110
Answer: z/w = =t
w 4+ 31
1 = — =
W= T T 1659
Jp_ FT (420U 430) 24 i
zZ/n = = —=
|w|? 1649 25

2. Find the modulus and principal argument of (i — 1).

Answer: the modulus/ norm/ length is = /2 , the principal argument is Sf
I
-1+
! i —1] =124+ (=12 =V2
o R
4 -1 1 3 3m
i—1=v2(—= 4+ —=i) = V2(cos(=) 4 isin(—
(T5+—50) = Valeos() + sin()
3. Find the three cube roots of (i — 1).
Answer: Wo, W1, Wa
3 3
i—1= \@(COS(%) +isin(£))
. 2k , 2k
wy = V2 <COS(Z + ?ﬂ) + zsin(g + ;))
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